ERETEERIEIR

(128)
s | A8 | PEERK | kg | REEK
MR A= RME 1z 7 695.8 35
E—r=lk 1Z7t 335.2 2.1
Bl 1Z7t 2 885.5 3.7
E=r= 1Z7t 44751 3.5
FUAELA E TAlAEINE z7T 3.1
HERHIEEIE z7T 3.7
HHELLE Tl e % 100.9 16.2 99.6 19
AR E T W RESER(T-£B) 127t 610.7 10.6
AR E T RIFRSER(1- EB) z7T 972.2 12.0
BEIERRE z7T -17.4 6.1
# T EERIRE 1Z7t 40.0 303
#EIEF RIS R z7T -6.4 -23.1
AR SR JAEZaE S -59.4 6489  -406
HEEBRTELE z7T 3864.5 -3.0
PREALA i mEE 1zt 147.8 -16.1 17209 -2.1
#W_E AT ERR 1zt 38.5 -14.2 474.4 3.0
SCRRFIASNE (F55EROAR) =S 0.04 -94.3 392 3751
HHOSER 125 16.8 -4.7 2113 -3.5
HO 125t 56  -27.8 78.3 43
#O 125t 11.2 13.2 133.0 -7.5




(12H)

s | A8 | PEERK | kg | REEK
HHEOSE 1Z7t 118.7 5.2 1 406.6 -0.7
HO 127 39.5 -20.1 522.3 7.7
#O 127t 79.2 24.8 884.3 -5.0
—FRAHFAEWN 1Z7t 413 -36.5 7137 -7.7
LN 1Z7t 31.5 -35.1 529.4 -13.6
—MEAHTETH 127 119.6 -2.3 1048.9 16
SRINEARINDFRRE 1Z7t 20 855.0 7.6
SRR RFRRER z7T 20 777.3 8.0
SHLFEE T EA 41.1 1.9 400.2 0.4
#T {ZFERT 19.1 -6.8 165.5 -6.3
#iliE {ZFERT 9.1 -9.5 113.9 -1.0
RoRE s 1464.7 -134 177575 9.4
#KERIB s 36.4 10.3 390.7 0.6
NI s 1428.0 -139 173630 9.6
LHERAIATZERRA 7T 45 500 2.6
IEE R AR ST ECIN 7T 51702 2.2
RITEER AR SZECN 7C 22 352 3.2
[EERHEBNMEE IS % 101.6 101.7
FERmEEHENEER(LER) % 99.4
—FEEHEMEEE(LER) % 99.2

T EEHENBERIALRA100.
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